20

kcal =
kcal/m?/ x m  x 24
kcal/
A B
Bx X
A=B+Bx+1/10A
12

2.8g/kg 1

20 1.08g/kg

9/kg
y=1.83x 107x?-0.071x+4.43
y=2.34x 107x*-0.157x+7.71 y
kg X cm
8 20
799
18
15 15
1968 721 1 6
369 352 799
15 21 5.2
A=WP-48x H0-%62x 381.89 A cm? 34 8.6 15
W kg H cm 4 1.0 2 0.5

44
Statgraphics Plus



for Windows 3.0 (Statistical Graph Corp.

SD

USA) Spesrman rank correaltion
+ 2SD
15 15
3-5 0%
1 2
6
12
r=0.457 p<0.001 r=0.429 p<0.001
2

r=0.574 p<0.001

r=0.611 p<0.001
3-5
r=0.573 p<0.001 r=0.606 p<0.001
3 4
1000kcal 1000
1500kcal 1500
1981
FAO/WHO/UNU
10
1
70cm cm

25-75 tile

3-6
1-2
6
2 2-6g/d
kg 12 20
1994
6 752 756 1996
1987
FAQ/WHO/UNU
WHO
724 1989
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(cm)

kcal (9) kcal (9)
70 75 840 25 25
75 80 910 28 30 1070 37
80 85 970 31 30 1110 38
85 90 1030 34 35 1180 43
80 85 1100 30 35 1170 41
85 90 1170 33 35 1170 43
90 95 1240 37 40 1210 44
95-100 1320 41 40
90 95 1330 35 40 1210 43
95 100 1420 39 45 1280 45
100 105 1500 42 45 1440 49
105 110 1590 46 50 1520 54
110 115 1670 51 50 1510 52
115 120 1760 54 55 1600 58
120 125 1860 58 55
125 130 1970 63 60
70 75 820 24 25 830 35
75 80 880 27 30 1000 38
80 85 940 30 30 1010 37
85 90 1000 33 35 1000 33
80 85 1060 29 35 1130 40
85 90 1130 33 35 1080 39
90 95 1210 36 40 1170 41
95-100 1280 40 40
90 95 1260 34 40 1120 40
95 100 1340 38 40 1220 43
100 105 1430 42 45 1300 46
105 110 1510 46 45 1340 48
110 115 1600 51 50 1530 54
115 120 1660 54 50 1530 51
120 125 1740 58 55
125 130 1840 63 55
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